

Research Article

Commutators and Squares in Free Nilpotent Groups

Mehri Akhavan-Malayeri

Department of Mathematics, Alzahra University, Vank, Tehranm 19834, Iran

Correspondence should be addressed to Mehri Akhavan-Malayeri, makhavanm@yahoo.com

Received 2 August 2009; Revised 24 November 2009; Accepted 1 December 2009

Recommended by Howard Bell

In a free group no nontrivial commutator is a square. And in the free group $F_2 = F(x_1, x_2)$ freely generated by x_1, x_2 the commutator $[x_1, x_2]$ is never the product of two squares in F_2 , although it is always the product of three squares. Let $F_{2,3} = \langle x_1, x_2 \rangle$ be a free nilpotent group of rank 2 and class 3 freely generated by x_1, x_2 . We prove that in $F_{2,3} = \langle x_1, x_2 \rangle$, it is possible to write certain commutators as a square. We denote by $Sq(\gamma)$ the minimal number of squares which is required to write γ as a product of squares in group G . And we define $Sq(G) = \sup\{Sq(\gamma); \gamma \in G'\}$. We discuss the question of when the square length of a given commutator of $F_{2,3}$ is equal to 1 or 2 or 3. The precise formulas for expressing any commutator of $F_{2,3}$ as the minimal number of squares are given. Finally as an application of these results we prove that $Sq(F'_{2,3}) = 3$.

Copyright © 2009 Mehri Akhavan-Malayeri. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Introduction

Schützenberger [1] proved that in a free group the equation

$$[x, y] = z^r, \quad r \geq 2 \tag{1.1}$$

implies $z = 1$; that is, no nontrivial commutator is a proper power. It means that it is impossible to write $[x, y]$ as an r th powers where $r \geq 2$. Lyndon and Newman [2] have shown that in the free group $F_2 = F(x_1, x_2)$ freely generated by x_1, x_2 , the commutator $[x_1, x_2]$ is never a product of two squares in F_2 , although it is always the product of three squares. In [3] we proved that for an odd integer k , $[x_2, x_1]^k$ is not a product of two squares in F_2 , and it is the product of three squares. Put $w = [x_2, x_1]$ and $k = 2n + 1$. We presented the following

expression of $[x_2, x_1]^{2n+1}$ as a product of the minimal number of squares:

$$[x_2, x_1]^{2n+1} = \left((w^n x_2 x_1)^{w^n} \right)^2 \left(w^n x_1^{-1} \right)^2 \left((w^{-n} x_2^{-1})^{x_1} \right)^2. \quad (1.2)$$

Recently Abdollahi [4] generalized these results as the following theorem.

Theorem 1.1 (Abdollahi [4]). *Let F be a free group with a basis of distinct elements x_1, \dots, x_{2n} , and N any odd integer. Then there exist elements u_1, \dots, u_m in F such that*

$$([x_1, x_2] \cdots [x_{2n-1}, x_{2n}])^N = u_1^2 \cdots u_m^2 \quad (1.3)$$

if and only if $m \geq 2n + 1$.

Definition 1.2. Let G be a group and $\gamma \in G'$. The minimal number of squares which is required to write γ as a product of squares in G is called *the square length of γ* and denoted by $\text{Sq}(\gamma)$. And we define $\text{Sq}(G) = \sup\{\text{Sq}(\gamma); \gamma \in G'\}$.

We prove that in the free nilpotent group $F_{2,3} = \langle x_1, x_2 \rangle$ of rank 2 and class 3 freely generated by x_1, x_2 it is possible to write certain nontrivial commutators as a proper power. We consider certain equations over free group $F_{2,3}$. Using this, we find $\text{Sq}[h, g]$ where $h, g \in F_{2,3}$. Then we prove that $\text{Sq}(F'_{2,3}) = 3$.

2. Main Results

We will prove the following theorems.

Theorem 2.1. *Let $F_{2,3} = \langle x_1, x_2 \rangle$ be a free nilpotent group of rank 2 and class 3 freely generated by x_1, x_2 . Then $\text{Sq}(F'_{2,3}) = 3$.*

An application of Theorem 2.1 is displayed in the next result.

Corollary 2.2. *In a free nilpotent group of rank 2 and class 3, it is possible to find nontrivial solutions for the equation*

$$[x, y] = z^r, \quad r \geq 2. \quad (2.1)$$

We will use the following well-known identities regarding groups which are nilpotent of class 3.

Lemma 2.3. *Let $G = \langle x, y \rangle$ be nilpotent of class 3. Then, for all integers r, s the following hold:*

$$\begin{aligned} [x^r, y] &= [x, y]^r [x, y, x]^{r(r-1)/2}, \\ [x^r, y^s] &= [x, y]^{rs} [x, y, x]^{rs(r-1)/2} [x, y, y]^{rs(s-1)/2}. \end{aligned} \quad (2.2)$$

3. Proofs of the Main Result

Proof of Theorem 2.1. Let h, g be any two elements of $F_{2,3} \setminus \gamma_3(F_{2,3})$. First we study the form of the element $[h, g]$. Since $\gamma_3(F_{2,3})$ lies in the center of $F_{2,3}$ we may express h as $x_1^{r_1} x_2^{r_2} [x_2, x_1]^\beta$ and g as $x_1^{s_1} x_2^{s_2} [x_2, x_1]^\alpha$. We have shown in [5] that.

$$[h, g] = [x_2, x_1]^\lambda [x_2, x_1, x_2]^\mu [x_2, x_1, x_1]^\nu, \tag{3.1}$$

where

$$\begin{aligned} \lambda &= r_2 s_1 - r_1 s_2, \\ \mu &= \frac{s_1 r_2 (r_2 - 1)}{2} - \frac{r_1 s_2 (s_2 - 1)}{2} - r_1 r_2 s_2 + r_2 s_1 s_2 + \beta s_2 - \alpha r_2, \\ \nu &= \frac{r_2 s_1 (s_1 - 1)}{2} - \frac{s_2 r_1 (r_1 - 1)}{2} + \beta s_1 - \alpha r_1. \end{aligned} \tag{3.2}$$

Now we consider the equation $[h, g] = u^2 (\diamond)$. The element u has a presentation of the following form:

$$u = x_1^{r'_1} x_2^{r'_2} [x_2, x_1]^{\alpha'} [x_2, x_1, x_2]^{\gamma'} [x_2, x_1, x_1]^{\beta'}, \tag{3.3}$$

where $r'_1, r'_2, \alpha', \beta',$ and γ' are unique integer elements.

Lemma 2.3 implies that

$$\begin{aligned} u^2 &= x_1^{2r'_1} x_2^{2r'_2} [x_2, x_1]^{2\alpha' + r'_1 r'_2} [x_2, x_1, x_2]^{2\gamma' + \alpha' r'_2 + r'_1 r'_2 (r'_2 - 1) / 2 + r'_1 r'_2} \\ &\quad \times [x_2, x_1, x_1]^{2\beta' + \alpha' r'_1 + r'_1 r'_2 (r'_1 - 1) / 2}. \end{aligned} \tag{3.4}$$

Thus equation (\diamond) holds in $F_{2,3}$ if and only if

$$r'_1 = r'_2 = 0, \quad 2\alpha' = \lambda, \quad 2\beta' = \nu, \quad 2\gamma' = \mu. \tag{3.5}$$

In particular the equation (\diamond) has a solution only if $\lambda, \mu,$ and ν are even. Put $c_1 = \alpha r_2 - \beta s_2,$ $c_2 = \alpha r_1 - \beta s_1,$ then

$$\alpha = \frac{\begin{vmatrix} c_1 & -s_2 \\ c_2 & -s_1 \end{vmatrix}}{\begin{vmatrix} r_2 & -s_2 \\ r_1 & -s_1 \end{vmatrix}} = \frac{s_1 c_1 - s_2 c_2}{2\alpha'}, \quad \beta = \frac{\begin{vmatrix} r_2 & c_1 \\ r_1 & c_2 \end{vmatrix}}{-2\alpha'} = \frac{r_1 c_1 - r_2 c_2}{2\alpha'}. \tag{3.6}$$

Hence we need $s_1 c_1 - s_2 c_2$ and $r_1 c_1 - r_2 c_2$ to be even. We have the following two cases.

Case 1. If $r_1s_2 = 2k$, for some integer k , then $r_2s_1 = 2\alpha' + 2k$, and hence $r_2s_1 \equiv 0$. And we have

$$\begin{aligned} c_1 &= -\alpha' + \alpha'(r_2 + s_2) - kr_2 + (\alpha' + k)s_2 - 2\gamma', \\ c_2 &= \alpha' + (\alpha' + k)s_1 - kr_1 - 2\beta'. \end{aligned} \quad (3.7)$$

Further,

$$\begin{aligned} 0 &\equiv_2 s_1c_1 + s_2c_2 \equiv_2 \alpha'(s_1 + s_1s_2 + s_2), \\ 0 &\equiv_2 r_1c_1 + r_2c_2 \equiv_2 \alpha'(r_1 + r_1r_2 + r_2). \end{aligned} \quad (3.8)$$

Now if α' is an odd integer, then we have

$$0 \equiv_2 r_1 + r_1r_2 + r_2 \equiv_2 s_1 + s_1s_2 + s_2. \quad (3.9)$$

It follows that r_1, r_2, s_1 , and s_2 are all even. Hence $\lambda = r_2s_1 - r_1s_2$ is divisible by 4. But $\lambda = 2\alpha'$ implies that $\alpha' \equiv_2 0$, a contradiction. Hence in Case 1 we have $\alpha' \equiv_2 0$ and $\lambda \equiv_4 0$.

Now $r_1s_2 = 2k$, and $r_2s_1 = 2\alpha' + 2k$ imply that

$$\begin{aligned} \mu &= \alpha'r_2 - kr_2 - \alpha' + ks_2 + 2\alpha's_2 + \beta s_2 - \alpha r_2 = 2\gamma', \\ \nu &= \alpha's_1 + ks_1 - \alpha' - kr_1 + \beta s_1 - \alpha r_1 = 2\beta'. \end{aligned} \quad (3.10)$$

Hence we have

$$\begin{aligned} \mu &\equiv_2 r_2(k + \alpha) + s_2(k + \beta), \\ \nu &\equiv_2 r_1(k + \alpha) + s_1(k + \beta). \end{aligned} \quad (3.11)$$

And we have the following cases.

Subcase 1.1. If $r_1 \equiv_2 r_2 \equiv_2 s_1 \equiv_2 s_2 \equiv_2 0$, then it is clear that for any integer numbers α and β we have;

$$\lambda \equiv_4 0, \quad \mu \equiv_2 \nu \equiv_2 0. \quad (3.12)$$

And the equation (\diamond) has solution.

Subcase 1.2. If $r_1 \equiv_2 r_2 \equiv_2 s_1 \equiv_2 0$ and $s_2 \equiv_2 1$, then $r_1s_2 \equiv_4 \lambda \equiv_4 0$. We have the following two cases.

(1.2.1) If $r_1 \equiv_4 0$, then we have $\lambda \equiv_4 0$. Also from $r_1s_2 = 2k$, it follows that $k \equiv_2 0$. Now if we choose $\beta \equiv_2 0$, then from (3.11) it follows that $\mu \equiv_2 0$ and $\nu \equiv_2 0$ for any $\alpha \in \mathbb{Z}$. And in this case the equation (\diamond) has a solution.

(1.2.2) If $r_1 \equiv_4 2$, then $\lambda \equiv_4 2$, and the equation (\diamond) has no solution.

Hence in Subcase 1.2 if $r_1 \equiv_4 0$, $r_2 \equiv_2 s_1 \equiv_2 0$, $s_2 \equiv_2 1$, and $\beta \equiv_2 0$, for any $\alpha \in \mathbb{Z}$ the equation (\diamond) has a solution.

Subcase 1.3. If $r_1 \equiv_2 r_2 \equiv_2 s_2 \equiv_2 0$ and $s_1 \equiv_2 1$, then $s_1 r_2 \equiv_4 \lambda \equiv_4 0$. We have two cases.

(1.3.1) If $r_2 \equiv_4 0$, then $\lambda \equiv_4 0$. Since $r_1 s_2 = 2k$, and $r_1 \equiv_2 s_2 \equiv_2 0$, hence $k \equiv_2 0$. Now if we identify $\beta \equiv_2 0$, then from (3.11) it follows that $\mu \equiv_2 0$ and $\nu \equiv_2 0$. And the equation (\diamond) has a solution.

(1.3.2) If $r_2 \equiv_4 2$, then $\lambda \equiv_4 2$, and the equation (\diamond) has no solution.

Hence in Subcase 1.3 if $r_1 \equiv_2 s_2 \equiv_2 0$, $r_2 \equiv_4 0$, and $\beta \equiv_2 0$, for any $\alpha \in \mathbb{Z}$ the equation (\diamond) has a solution.

Subcase 1.4. If $r_1 \equiv_2 r_2 \equiv_2 0$ and $s_1 \equiv_2 s_2 \equiv_2 1$, then we have the following two cases.

(1.4.1) If $r_1 \equiv_4 0$, then $\lambda \equiv_4 s_1 r_2 \equiv_4 0$. Now $s_1 \equiv_2 1$ implies $r_2 \equiv_4 2$. If we choose $\beta \equiv_2 0$, then for any $\alpha \in \mathbb{Z}$ the equation (\diamond) has a solution. Hence if $r_1 \equiv_4 r_2 \equiv_4 0$, $s_1 \equiv_2 s_2 \equiv_2 1$, and $\beta \equiv_2 0$, then for any $\alpha \in \mathbb{Z}$, the equation (\diamond) has a solution.

(1.4.2) If $r_1 \equiv_4 2$. Since $\lambda \equiv_4 s_1 r_2 - r_1 s_2 \equiv_4 0$, hence $r_2 \equiv_4 2$. If we identify $\beta \equiv_2 1$, for any $\alpha \in \mathbb{Z}$ then $\mu \equiv_2 \nu \equiv_2 0$. And the equation (\diamond) has a solution.

Subcase 1.5. If $r_1 \equiv_2 s_1 \equiv_2 r_2 \equiv_2 0$, and $r_2 \equiv_2 1$, we have the following two cases.

(1.5.1) If $s_1 \equiv_4 0$, then $\lambda \equiv_4 0$. Since $r_1 s_2 = 2k$, hence $k \equiv_2 0$. If we identify $\alpha \equiv_2 0$, for any $\beta \in \mathbb{Z}$, then $\mu \equiv_2 \nu \equiv_2 0$. And the equation (\diamond) has a solution.

(1.5.2) If $s_1 \equiv_4 2$, then $\lambda \equiv_4 2$. And the equation (\diamond) has no solution. Hence in this case only if $s_1 \equiv_4 0$, the equation (\diamond) has a solution.

Subcase 1.6. If $r_1 \equiv_2 s_1 \equiv_2 0$ and $r_2 \equiv_2 s_2 \equiv_2 1$, then similar to Case 4, if $r_1 \equiv_4 s_1 \equiv_4 0$ or $r_1 \equiv_4 s_1 \equiv_4 2$ then $\lambda \equiv_4 0$. And for any $\alpha \equiv_2 \beta$, $\mu \equiv_2 \nu \equiv_2 0$, the equation (\diamond) has a solution.

Subcase 1.7. If $r_1 \equiv_2 s_2 \equiv_2 0$ and $r_2 \equiv_2 s_1 \equiv_2 1$, then $\lambda \equiv_2 1$. Hence the equation (\diamond) has no solution.

Subcase 1.8. If $r_1 \equiv_2 0$ and $r_2 \equiv_2 s_2 \equiv_2 s_1 \equiv_2 1$, then $\lambda \equiv_2 1$. Hence the equation (\diamond) has no solution.

Subcase 1.9. If $r_1 \equiv_2 1$ and $r_2 \equiv_2 s_2 \equiv_2 s_1 \equiv_2 0$, we have two cases.

(1.9.1) If $s_2 \equiv_4 0$, then $\lambda \equiv_4 0$. Since $r_1 s_2 = 2k$, hence $k \equiv_2 0$. If we identify $\alpha \equiv_2 0$, for any $\beta \in \mathbb{Z}$, then $\mu \equiv_2 \nu \equiv_2 0$. And the equation (\diamond) has a solution.

(1.9.2) If $s_2 \equiv_4 2$, then $\lambda \equiv_4 2$. And the equation (\diamond) has no solution.

Subcase 1.10. If $r_1 \equiv_2 s_2 \equiv_2 1$ and $r_2 \equiv_2 s_1 \equiv_2 0$, then $r_1 s_2 \equiv_2 1$. And the equation (\diamond) has no solution.

Subcase 1.11. If $r_1 \equiv_2 s_1 \equiv_2 1$ and $r_2 \equiv_2 s_2 \equiv_2 0$, then similar to Subcase 1.6, if $r_2 \equiv_4 s_2 \equiv_4 0$ or $r_2 \equiv_4 s_2 \equiv_4 2$ then $\lambda \equiv_4 0$. And for any $\alpha \equiv_2 \beta$, $\mu \equiv_2 \nu \equiv_2 0$, the equation (\diamond) has a solution.

Subcase 1.12. If $r_1 \equiv_2 s_1 \equiv_2 s_2 \equiv_2 1$ and $r_2 \equiv_2 0$, then $r_1 s_2 \equiv_2 1$. And the equation (\diamond) has no solution.

Subcase 1.13. If $r_1 \equiv_2 r_2 \equiv_2 1$ and $s_1 \equiv_2 s_2 \equiv_2 0$, then we have two cases.

(1.13.1) If $s_1 \equiv_4 0$, then $\lambda \equiv_4 0$ implies $s_2 \equiv_2 0$. If we identify $\alpha \equiv_2 0$, for any $\beta \in \mathbb{Z}$, the equation (\diamond) has a solution.

(1.13.2) If $s_1 \equiv_4 2$, then $s_2 \equiv_4 2$. And if $\alpha \equiv_2 1$, for any $\beta \in \mathbb{Z}$, the equation (\diamond) has a solution.

Subcase 1.14. If $r_1 \equiv_2 r_2 \equiv_2 s_2 \equiv_2 1$ and $s_1 \equiv_2 0$, then $r_1 s_2 \equiv_2 1$. In this case the equation (\diamond) has no solution.

Subcase 1.15. If $r_1 \equiv_2 r_2 \equiv_2 s_1 \equiv_2 1$ and $s_1 \equiv_2 0$, then $r_2 s_1 \equiv_2 1$. In this case the equation (\diamond) has no solution.

Case 2. If $r_1 s_2 \equiv_2 1$. Since $\lambda = s_1 r_2 - r_1 s_2 \equiv_2 0$, hence $r_1 \equiv_2 r_2 \equiv_2 s_1 \equiv_2 s_2 \equiv_2 1$. If we identify $\alpha \equiv_2 \beta$, then $\mu \equiv_2 \nu \equiv_2 0$. In this case the equation (\diamond) has a solution.

Hence we show that in the following twelve cases the equation (\diamond) has solution. And $\text{Sq}[h, g] = 1$.

- (1) $r_1 \equiv_2 s_1 \equiv_2 r_2 \equiv_2 s_2 \equiv_2 0$, for all α, β .
- (2) $s_1 \equiv_2 r_2 \equiv_2 0$, $s_2 \equiv_2 1$, $r_1 \equiv_4 0$, for all $\alpha, \beta \equiv_2 0$.
- (3) $r_1 \equiv_2 s_2 \equiv_2 0$, $s_1 \equiv_2 1$, $r_2 \equiv_4 0$, for all $\alpha, \beta \equiv_2 0$.
- (4) $s_1 \equiv_2 s_2 \equiv_2 1$, $r_1 \equiv_4 r_2 \equiv_2 0$, for all $\alpha, \beta \equiv_2 0$.
- (5) $s_1 \equiv_2 s_2 \equiv_2 1$, $r_1 \equiv_4 r_2 \equiv_4 2$, for all $\alpha, \beta \equiv_2 0$.
- (6) $r_1 \equiv_2 s_2 \equiv_2 0$, $r_2 \equiv_2 1$, $s_1 \equiv_4 0$, $\alpha \equiv_2 0$, for all β .
- (7) $r_1 \equiv_2 s_1 \equiv_2 1$, $r_2 \equiv_2 s_2 \equiv_2 0$, $\alpha \equiv_2 \beta$.
- (8) $r_1 \equiv_2 s_1 \equiv_2 0$, $r_2 \equiv_2 s_2 \equiv_2 1$, $\alpha \equiv_2 \beta$.
- (9) $r_1 \equiv_2 1$, $r_2 \equiv_2 s_1 \equiv_2 0$, $s_2 \equiv_4 0$, $\alpha \equiv_2 0$, for all β .
- (10) $r_1 \equiv_2 r_2 \equiv_2 1$, $s_1 \equiv_4 s_2 \equiv_4 0$, $\alpha \equiv_2 0$, for all β .
- (11) $r_1 \equiv_2 r_2 \equiv_2 1$, $s_1 \equiv_4 s_2 \equiv_4 2$, $\alpha \equiv_2 1$, for all β .
- (12) $r_1 \equiv_2 s_1 \equiv_2 r_2 \equiv_2 s_2 \equiv_2 1$, $\alpha \equiv_2 \beta$.

And more precisely we have

$$[h, g] = \left([x_2, x_1]^{\lambda/2} [x_2, x_1, x_2]^{\mu/2} [x_2, x_1, x_1]^{\nu/2} \right)^2. \quad (3.13)$$

Now in the following ten cases the equation (\diamond) has no solution.

- (13) $r_2 \equiv_2 s_1 \equiv_2 0$, $s_2 \equiv_2 1$, $r_1 \equiv_4 2$.
- (14) $r_1 \equiv_2 s_2 \equiv_2 0$, $s_1 \equiv_2 1$, $r_2 \equiv_4 2$.
- (15) $r_1 \equiv_2 s_2 \equiv_2 0$, $r_2 \equiv_2 1$, $s_1 \equiv_4 2$.
- (16) $r_2 \equiv_2 s_1 \equiv_2 0$, $r_1 \equiv_2 1$, $s_2 \equiv_4 2$.
- (17) $r_1 \equiv_2 s_2 \equiv_2 0$, $r_2 \equiv_2 s_1 \equiv_2 1$.
- (18) $r_1 \equiv_2 s_2 \equiv_2 1$, $r_2 \equiv_2 s_1 \equiv_2 0$.
- (19) $r_1 \equiv_2 s_1 \equiv_2 s_2 \equiv_2 1$, $r_2 \equiv_2 0$.
- (20) $r_1 \equiv_2 r_2 \equiv_2 s_2 \equiv_2 1$, $s_1 \equiv_2 0$.

$$(21) \ r_1 \equiv_2 s_1 \equiv_2 r_2 \equiv_2 1, \ s_2 \equiv_2 0.$$

$$(22) \ r_2 \equiv_2 s_1 \equiv_2 s_2 \equiv_2 1, \ r_1 \equiv_2 0.$$

We consider the equation $[h, g] = u_1^2 u_2^2$ (\diamond). Suppose that the equation (\diamond) has a nontrivial solution (u_1, u_2) . The elements u_1 and u_2 have a representation of the following forms:

$$\begin{aligned} u_1 &= x_1^{r_{11}} x_2^{r_{21}} [x_2, x_1]^{\alpha_1} [x_2, x_1, x_1]^{\beta_1} [x_2, x_1, x_2]^{\gamma_1}, \\ u_2 &= x_1^{r_{12}} x_2^{r_{22}} [x_2, x_1]^{\alpha_2} [x_2, x_1, x_1]^{\beta_2} [x_2, x_1, x_2]^{\gamma_2}, \end{aligned} \tag{3.14}$$

where $r_{ij}, \alpha_i, \beta_i,$ and γ_i are unique integer numbers. By applying Lemma 2.3 one obtains

$$\begin{aligned} u_i^2 &= x_1^{2r_{1i}} x_2^{2r_{2i}} [x_2, x_1]^{2\alpha_i+r_{1i}r_{2i}} \\ &\quad \times [x_2, x_1, x_1]^{2\beta_i+\alpha_i r_{1i}+r_{1i}r_{2i}((r_{1i}-1)/2)} \\ &\quad \times [x_2, x_1, x_2]^{2\gamma_i+\alpha_i r_{2i}+r_{1i}r_{2i}(\frac{r_{2i}-1}{2})+r_{1i}r_{2i}^2}. \end{aligned} \tag{3.15}$$

Hence

$$\begin{aligned} u_1^2 u_2^2 &= x_1^{2(r_{11}+r_{12})} x_2^{2(r_{21}+r_{22})} [x_2, x_1]^{2(\alpha_1+\alpha_2)+r_{11}r_{21}+r_{12}r_{22}+4r_{21}r_{12}} \\ &\quad \times [x_2, x_1, x_2]^{n_1+n_2+2k_1r_{22}+4r_{21}r_{12}((2r_{21}-1)/2)+8r_{21}r_{12}r_{22}} \\ &\quad \times [x_2, x_1, x_1]^{m_1+m_2+2k_1r_{12}+4r_{21}r_{12}((2r_{12}-1)/2)}, \end{aligned} \tag{3.16}$$

where for $i = 1, 2,$

$$\begin{aligned} k_i &= 2\alpha_i + r_{1i}r_{2i}, \\ m_i &= 2\beta_i + \alpha_i r_{1i} + r_{1i}r_{2i} \left(\frac{r_{1i}-1}{2} \right), \\ n_i &= 2\gamma_i + \alpha_i r_{2i} + r_{1i}r_{2i} \left(\frac{r_{2i}-1}{2} \right) + r_{1i}r_{2i}^2. \end{aligned} \tag{3.17}$$

Hence equation (\diamond) holds if

$$\begin{aligned} r_{11} &= -r_{12}, \quad r_{21} = -r_{21}, \\ \lambda &= 2(\alpha_1 + \alpha_2) - 2r_{11}r_{21}, \\ \mu &= 2(\gamma_1 + \gamma_2) + r_{21}(\alpha_1 - \alpha_2) - 2k_1r_{21} + r_{11}r_{21}(-4r_{21} + 1), \\ \nu &= 2(\beta_1 + \beta_2) + r_{11}(\alpha_1 - \alpha_2) - 2k_1r_{11} + r_{11}r_{21}(4r_{11} + 1). \end{aligned} \tag{3.18}$$

Note that second equation gives $\lambda \equiv_2 0$; hence equation (\diamond) has nontrivial solution only if $\lambda \equiv_2 0$. In particular in the cases from (17) to (22), since λ is odd, the equation has no solution and $\text{Sq}[h, g] = 3$.

Finally it remains to consider the cases from (13) to (16). In these cases we have $\lambda \equiv_4 2$. And we prove that if $\nu \equiv_2 1$, then $\mu \equiv_2 0$. It is clear that $\nu \equiv_2 1$ implies $m_1 + m_2 \equiv_2 1$. Hence $r_{11}(\alpha_1 + \alpha_2 + r_{21}) \equiv_2 1$. In particular $r_{11} \equiv_2 1$ and $\alpha_1 + \alpha_2 + r_{21} \equiv_2 1$. Now we have

$$\begin{aligned} \mu &\equiv_2 n_1 + n_2 \equiv_2 \alpha_1 r_{21} + r_{11} r_{21} \left(\frac{r_{21} - 1}{2} \right) + r_{11} r_{21}^2 \\ &\quad + \alpha_2 r_{22} + r_{12} r_{22} \left(\frac{r_{22} - 1}{2} \right) + r_{12} r_{22}^2 \\ &\equiv_2 (1 + r_{12}) r_{12} \equiv_2 0. \end{aligned} \quad (3.19)$$

Now in the cases from (13) and (15), we have $\nu \equiv_2 1$. Hence $\mu \equiv_2 0$. And if we identify:

$$\begin{aligned} r_{11} &= -s_1 + 1, & r_{12} &= s_1 - 1, & r_{22} &= -r_{21} = 0, \\ \alpha_1 &= \beta_2 = \gamma_2 = 0, & \alpha_2 &= \frac{\lambda}{2}, & \beta_1 &= \frac{\nu + r_{11}\alpha_2}{2}, & \gamma_1 &= \frac{\mu}{2}. \end{aligned} \quad (3.20)$$

then for the elements

$$\begin{aligned} u_1 &= x_1^{-s_1+1} [x_2, x_1, x_1]^{(\nu+r_{11}(\lambda/2))/2} [x_2, x_1, x_2]^{\mu/2}, \\ u_2 &= x_1^{s_1-1} [x_2, x_1]^{\lambda/2}. \end{aligned} \quad (3.21)$$

we have $[h, g] = u_1^2 u_2^2$. It covers the cases from (13) and (15).

Now we consider the cases from (14) and (16). Since in these cases $\mu \equiv_2 1$, hence $\nu \equiv_2 0$. If we identify

$$\begin{aligned} r_{11} &= r_{12} = 0, & r_{21} &= 1, & r_{22} &= -1, \\ \alpha_1 &= \beta_2 = \gamma_1 = 0, & \alpha_2 &= \frac{\lambda}{2}, & \beta_1 &= \frac{\nu}{2}, & \gamma_1 &= \frac{\mu + \alpha_2}{2}. \end{aligned} \quad (3.22)$$

then for the elements

$$\begin{aligned} u_1 &= x_2 [x_2, x_1, x_1]^{\nu/2}, \\ u_2 &= x_2^{-1} [x_2, x_1]^{\lambda/2} [x_2, x_1, x_2]^{(\mu+\lambda/2)/2}. \end{aligned} \quad (3.23)$$

one obtains $[h, g] = u_1^2 u_2^2$. And the equation (\diamond) satisfies.

In particular in the cases from (13) to (16), we have $\text{Sq}[h, g]=2$. This completes the proof. \square

As an immediate consequence of Theorem 2.1, we obtain the exact value of the $\text{Sq}(F'_{2,3})$.

The proof of Corollary 2.2 is based on our previous result [5] which we summarize here.

Theorem 3.1 (Rhemtulla-Akhavan[5]). *Let $F_{2,3} = \langle x_1, x_2 \rangle$ be a free nilpotent group of rank 2 and class 3 freely generated by x_1, x_2 . Then any element of $F'_{2,3}$ can be expressed as a product of at most two commutators.*

We will also use the fact that if a, b , and c are any elements of a group G , then

$$a^2[b, c] = \left(a^2b^{-1}c^{-1}\right)^2 \left(aba^{-1}c^{-1}a^{-1}\right)^2 (ac)^2. \quad (\dagger)$$

Proof of Corollary 2.2. Let $\zeta = [x, y][w, z]$ be any element of $F'_{2,3}$. We may write

$$\begin{aligned} [x, y] &= [x_2, x_1]^\lambda [x_2, x_1, x_2]^\mu [x_2, x_1, x_1]^\nu, \\ [z, w] &= [x_2, x_1]^{\lambda'} [x_2, x_1, x_2]^{\mu'} [x_2, x_1, x_1]^{\nu'}, \end{aligned} \quad (3.24)$$

where $\lambda, \lambda', \mu, \mu', \nu$, and ν' are suitable integer numbers. Since $\gamma_3(F_{2,3})$ lies in the center of $F_{2,3}$ and $F'_{2,3}$ is abelian, we may express ζ as

$$\zeta = [x_2, x_1]^{\lambda+\lambda'} \left[x_2, x_1, x_2^{\mu+\mu'} x_1^{\nu+\nu'} \right]. \quad (3.25)$$

There are two cases:

- (1) $\lambda + \lambda' \equiv_2 0$,
- (2) $\lambda + \lambda' \equiv_2 1$.

Case 1. By (\dagger) , we may write ζ as a product of three squares.

Case 2. We may write

$$\zeta = [x_2, x_1]^{\lambda+\lambda'-1} [x_1, x_2] x_2^{\mu+\mu'} x_1^{\nu+\nu'}. \quad (3.26)$$

Since $\lambda + \lambda' - 1$ is even, (\dagger) yields $\text{Sq}(\zeta) \leq 3$. In Theorem 2.1 we produce elements of square length equal to three. This shows that $\text{Sq}(F'_{2,3}) = 3$ and completes the proof. \square

Note. Let $G = \langle x_1, x_2 \rangle$ be a free nilpotent group of rank 2 and class $c \geq 3$ freely generated by x_1, x_2 . Now $F_{2,3}$ is a quotient of G . Since the equations (\diamond) and (\heartsuit) do not hold in the cases from (17) to (22) in $F_{2,3}$, these equations should not hold in G . And similarly since the equation (\heartsuit) does not hold in the cases from (13) to (16) in $F_{2,3}$, hence these equations will not hold in G .

Acknowledgments

The author would like to thank professor Howard E. Bell and the referee who have patiently read and verified this note and also suggested valuable comments. The author also would like to acknowledge the support of the Alzahra University.

References

- [1] M. P. Schützenberger, "Sur l'équation $a^{2+n} = b^{2+m}c^{1+p}$ dans un groupe libre," *Centre for Research and Restoration, Academy of Science of Paris*, vol. 248, pp. 2435–2436, 1959 (French).
- [2] R. C. Lyndon and M. Newman, "Commutators as products of squares," *Proceedings of the American Mathematical Society*, vol. 39, no. 2, pp. 267–272, 1973.
- [3] M. Akhavan-Malayeri, "Powers of commutators as products of squares," *International Journal of Mathematics and Mathematical Sciences*, vol. 31, no. 10, pp. 635–637, 2002.
- [4] A. Abdollahi, "Powers of a product of commutators as products of squares," *International Journal of Mathematics and Mathematical Sciences*, vol. 2004, no. 7, pp. 373–375, 2004.
- [5] M. Akhavan-Malayeri and A. Rhemtulla, "Commutator length of abelian-by-nilpotent groups," *Glasgow Mathematical Journal*, vol. 40, no. 1, pp. 117–121, 1998.



Hindawi

Submit your manuscripts at
<http://www.hindawi.com>

